# Nonoscillation Generating Delay Terms in Even Order Differential Equations

## R. S. DAHIYA

(Received February 4, 1975)

## 1. Introduction

The study of differential equations with time lag is growing increasingly significant due to technological dependence on physical systems with after effects. Mathematically, such systems [1] are governed by some sort of differential equation with an appropriate delay term which in itself may be a variable quantity. The oscillatory behavior of such equations becomes an interesting phenomenon especially when delay is chiefly responsible for causing oscillations. For example, following Teodorick [20], (also see Norkin [12, pp. 4-6]), the equation

(1) 
$$x''(t) + \frac{r}{m}x'(t) + \frac{k}{m}x(t) + \frac{2p}{\pi am}x(t-\Delta) = 0$$

represents the working of an electric hammer of mass m. A study of this system shows that without the delay term  $\Delta$ , there will be no vibrations.

Results concerning the oscillatory behavior of a wide variety of retarded equations can be found in [2, 3, 5, 9, 10, 13, 16, 19, 21]. However most of these results are such that the delay term does not play any role at all. But an obvious example such as

(2) 
$$y''(t) - y(t - \pi) = 0$$

clearly indicates by its solutions  $\sin t$  and  $\cos t$ , that its oscillatory behavior is different from that of the ordinary differential equation

(3) 
$$y''(t) - y(t) = 0$$

which is nonoscillatory. This difference in the behavior of equations (2) and (3) is clearly due to the delay term  $\pi$ .

Recently Ladas and Lakshmikantham [10] showed that if p(t)>0,  $p'(t)\leq 0$  and  $\tau^2 p(t)\geq 2$ , then the bounded solutions of the equation

(4) 
$$y''(t) - p(t)y(t-\tau) = 0$$

are oscillatory. Taking  $p(t) \equiv 1$  and  $\tau = 0$ , equation (4) reduces to equation (3) which we know is nonoscillatory. Ladas, Ladde and Pappadakis in [9, Theorem

R. S. DAHIYA

3.1] generalized these results to a more general equation

(5) 
$$y''(t) - \sum_{i=1}^{m} p_i(t)y(g_i(t)) = 0$$

where

$$g_i(t) \le t$$
,  $i = 1, 2, ..., m$ .

Our purpose, here, is to consider a still more general equation

(6) 
$$y^{(2n)}(t) - \sum_{i=1}^{m} p_i(t) y(g_i(t)) = f(t), \quad (n \ge 1 \text{ an integer})$$

and accomplish the following:

(a) to find conditions which will ensure that bounded nonoscillationy solutions of equation (6) approach zero,

(b) to find conditions such that nonscillatory solutions of equation (6) do not approach zero.

In what follows, we call a function  $y(t) \in C[t_0, \infty)$ ,  $t_0 > 0$ , oscillatory if it has arbitrarily large zeros. Otherwise call it nonoscillatory. All solutions referred to equations (2), (3), (4), (5), and (6) will be, henceforth, continuously extendable solutions on some positive half real axis.

It is assumed and showed by examples that such solutions exist. For more on this see Gustafson [6].

### 2. Main restlts

The following assumptions are to hold for the rest of this paper (see [9, p. 386]).

(i)  $p_i, g_i \in C[[t_0, \infty), R], p_i \ge 0, i = 1, 2, ..., m$ , and for some index  $i_0, 1 \le i_0 \le m, p_{i_0}(t) > 0$  for  $t \ge t_0$ .

- (ii)  $g_i(t) \le t$  and  $\lim_{t\to\infty} g_i(t) = \infty$  for i = 1, 2, ..., m.
- (iii)  $g'_i(t) \ge 0$  for i = 1, 2, ..., m.
- (iv)  $f(t) \in C[t_0, \infty)$  and nonnegative.

**THEOREM 1.** Suppose

(A) 
$$\limsup_{t \to \infty} \sum_{i=1}^{m} \int_{g^{*}(t)}^{t} \left[ \frac{(g_{i}(t) - g_{i}(s))^{2n-1}}{(2n-1)!} \right] p_{i}(s) ds > 1$$

where  $g^*(t) = \max_{\substack{1 \le i \le m}} [g_i(t)]$ . Then bounded nonoscillatory solutions of equation (6) are eventually negative.

**PROOF.** Let y(t) be a bounded nonoscillatory solution of equation (6). Then y(t) eventually assumes a constant sign. Suppose, to the contrary, that y(t) is eventually positive. Let T be large enough so that for  $t \ge T \ge t_0$ ,  $y(g_i(t)) > 0$  for i=1, 2, ..., m. Due to condition (i) and  $f(t) \ge 0$ , it follows from equation (6) that  $y^{(2n)}(t) > 0$ . Due to the fact that y(t) is bounded and positive, the conclusion  $y^{(2n)}(t) > 0$  implies the following

(7) 
$$(-1)^i y^{(i)}(t) \ge 0, \quad i = 1, 2, ..., 2n$$

for sufficiently large t. Without any loss of generality, we can assume that T is large enough so that for  $t \ge T$ , (7) holds. Let  $p, q \ge T$ . By generalized mean value theorem we have

(8) 
$$y(p) = y(q) + (p-q)y'(q) + \frac{(p-q)^2}{2!}y''(q) + \dots + \frac{(p-q)^{2n-1}}{(2n-1)!}y^{(2n-1)}(q) + \frac{(p-q)^{2n}}{(2n)!}y^{(2n)}(\beta)$$

where  $\beta \in (p, q)$ .

Since  $y^{(2n)}(\beta) > 0$ , we have from (8)

(9) 
$$y(p) \ge y(q) + (p-q)y'(q) + \frac{(p-q)^2}{2!}y''(q) + \dots + \frac{(p-q)^{2n-1}}{(2n-1)!}y^{(2n-1)}(q).$$

Let

$$p = g_i(s), \quad q = g_i(t).$$

Then from (9), we obtain

(10) 
$$y(g_i(s)) \ge y(g_i(t)) + (g_i(s) - g_i(t))y'(g_i(t)) + \frac{(g_i(s) - g_i(t))^2}{2!}y''(g_i(t))$$
  
  $+ \dots + \frac{(g_i(s) - g_i(t))^{2n-1}}{(2n-1)!}y^{(2n-1)}(g_i(t))$ 

from which

(11) 
$$y^{(2n)}(s) = \sum_{i=1}^{m} p_i(s)y(g_i(s)) + f(s) \ge \sum_{i=1}^{m} p_i(s)y(g_i(t)) + \sum_{i=1}^{m} y'(g_i(t))p_i(s)(g_i(s) - g_i(t)) + \cdots + \frac{1}{(2n-1)!} \sum_{i=1}^{m} p_i(s)(g_i(s) - g_i(t))^{2n-1}y^{(2n-1)}(g_i(t)) + f(s).$$

Integrating (11) between  $[g^*(t), t]$  we get

(12) 
$$y^{(2n-1)}(t) - y^{(2n-1)}(g^{*}(t)) \ge \sum_{i=1}^{m} y(g_{i}(t)) \int_{g^{*}(t)}^{t} p_{i}(s) ds$$
$$+ \sum_{i=1}^{m} y'(g_{i}(t)) \int_{g^{*}(t)}^{t} (g_{i}(s) - g_{i}(t)) p_{i}(s) ds$$
$$+ \dots + \frac{1}{(2n-1)!} \sum_{i=1}^{m} y^{(2n-1)}(g_{i}(t)) .$$
$$\cdot \int_{g^{*}(t)}^{t} p_{i}(s) (g_{i}(s) - g_{i}(t))^{2n-1} ds + f(t) (t - g^{*}(t))$$

(12) now yields

$$(13) \quad y^{(2n-1)}(t) \ge \sum_{i=1}^{m} y(g_{i}(t)) \int_{q^{*}(t)}^{t} p_{i}(s) ds + \sum_{i=1}^{m} y'(g_{i}(t)) \int_{g^{*}(t)}^{t} (g_{i}(s) - g_{i}(t)) p_{i}(s) ds + \frac{1}{2} \sum_{i=1}^{m} y''(g_{i}(t)) \int_{g^{*}(t)}^{t} (g_{i}(s) - g_{i}(t))^{2} p_{i}(s) ds + \cdots - \frac{y^{(2n-1)}(g^{*}(t))}{(2n-1)!} \left[ \sum_{i=1}^{m} \int_{g^{*}(t)}^{t} (g_{i}(t) - g_{i}(s))^{2n-1} p_{i}(s) ds - (2n-1)! \right] + f(t) (t - g^{*}(t)).$$

Due to condition (A) of this theorem, conclusion (7) and the fact that  $g_i(s) - g_i(t) \le 0$ (since  $s \le t$ ), each term to the right of (13) is nonnegative while the left side of (13) is nonpositive. Since  $p_{i_0} > 0$ , at least for one  $i_0$ , the right hand side of (13) is positive. This contradiction proves the theorem.

**THEOREM 2.** Suppose condition (A) of Theorem 1 is satisfied. In addition to this suppose

(B) there exists k>0 such that  $\liminf_{t\to\infty} \int_{t}^{t+k} p_j(t)dt \ge \varepsilon > 0$ : for some index j,  $1 \le j \le m$ .

(C) 
$$\int_{-\infty}^{\infty} f(t) dt < \infty .$$

Then bounded nonoscillatory solutions of equation (6) approach zero as  $t \rightarrow \infty$ .

**PROOF.** Let y(t) be a bounded nonoscillatory solution of equation (6). By Theorem 1, y(t) and y(g(t)) are negative to the right of some conveniently large  $t_0$ . From condition (B)

Nonoscillation Generating Delay Terms in Even Order Differential Equations 389

(14) 
$$\int_{t_0}^{\infty} p_j(t) dt = \infty.$$

Integrating equation (6) between  $t_0$  and t, we get

(15) 
$$y^{(2n-1)}(t) - y^{(2n-1)}(t_0) - \sum_{1}^{m} \int_{t_0}^{t} p_j(s) y(g_j(s)) ds = \int_{t_0}^{t} f(s) ds,$$

or

(16) 
$$y^{(2n-1)}(t) - y^{(2n-1)}(t_0) - \int_{t_0}^t p_j(s) y(g_j(s)) ds \le \int_{t_0}^t f(s) ds.$$

Equation (16) suggests that

(17) 
$$-\int_{t_0}^{\infty} p_j(s) y(g_j(s)) ds < \infty.$$

In fact if

(18) 
$$-\int_{t_0}^{\infty} p_j(s) y(g_j(s)) ds = \infty,$$

then due to  $\int_{t_0}^{\infty} f(t)dt < \infty$ , it follows from (15) that  $y^{(2n-1)} \to -\infty$  as  $t \to \infty$ . But this will force y(t) to be unbounded, a contradiction. Hence (17) holds. Now we will show that

(19) 
$$\lim_{t\to\infty} y'(t) = 0.$$

From (16) and (17), it follows that

(20) 
$$y^{(2n-1)}(t) \to 0$$
 as  $t \to \infty$ .

Now we shall make use of Kolmogorov's general theorem that, if  $|y| \le M_0$  and  $|y^{(2n-1)}| \le M_{2n-2}$  on  $(0, \infty)$ , then

(21) 
$$|y^{(i)}| \le C_{n,i} \cdot M_0^{1 - \frac{i}{2n-1}} M_{2n-1}^{\frac{i}{2n-1}},$$

where  $C_{n,i}$  is a numerical constant depending on *n* and *i* and 0 < i < 2n-1 (see [14, p. 22]). Thus if  $y^{(2n-1)}(t) \rightarrow 0$  as  $t \rightarrow \infty$  and y(t) is bounded, then  $y^{(i)}(t) \rightarrow 0$  (0 < i < 2n-1) as  $t \rightarrow \infty$ . Hence (19) holds.

Thus we have shown that

$$\lim_{t\to\infty}y'(t)=0\,.$$

Now from (14) and (17) we have

(22) 
$$\liminf_{t \to \infty} (-y(g(t)) = 0.$$

The subscript j in (22) is dropped for convenience. For convenience, let -y(t) = z(t) > 0. If  $\lim_{t \to \infty} z(t) \neq 0$ , then let

(23) 
$$\limsup_{t\to\infty} z(t) > r > 0.$$

In view of (11), there exists a sequence  $\{\beta_{\nu}\}, \nu \ge 0$  with the following properties (see, Singh [16], Hammett [7]):

- (24)  $\lim_{v \to \infty} \beta_v = \infty$ ,  $\beta_v \ge t_1$  for all v,  $t_1$  is the same as above.
- (25) For each v,  $z(g(\beta_v)) > r$ .
- (26) For each  $v \ge 1$ , there exist numbers  $\beta'_v$  such that  $\beta_{v-1} < \beta'_v < \beta_v$  and  $z(g(\beta'_v)) < r/2$ .

Let  $\alpha_v$  be the largest number less than  $\beta_v$  such that  $z(g(\alpha_v)) = r/2$  and  $\delta_v$  be the smallest number greater than  $\beta_v$  such that

(27) 
$$z(g(\delta_v)) = \frac{r}{2}$$
 for  $v \ge 1$ .

Now in the interval  $[\alpha_v, \beta_v]$ , there exists a  $\zeta_v$  such that by mean value theorem

(28) 
$$g'(\zeta_{\nu})z'(g(\zeta_{\nu})) = \frac{z(g(\beta_{\nu})) - z(g(\alpha_{\nu}))}{\beta_{\nu} - \alpha_{\nu}}$$

or

(29) 
$$|g'(\zeta_{\nu})z'(g(\zeta_{\nu}))| > \frac{r-r/2}{\delta_{\nu}-\alpha_{\nu}} = \frac{r}{2(\delta_{\nu}-\alpha_{\nu})}.$$

But  $z'(g(\zeta_{\nu})) \to 0$  as  $g(\zeta_{\nu}) \to \infty$ . Also  $g'(\zeta_{\nu})$  is bounded. Therefore from (29), it follows that

(30) 
$$\lim_{\nu\to\infty}(\delta_{\nu}-\alpha_{\nu})=\infty.$$

Also because of the way  $\alpha_v$  and  $\delta_v$  were chosen

(31) 
$$z(g(t)) \ge r/2 > 0 \quad \text{on} \quad [\alpha_{\nu}, \delta_{\nu}].$$

Now from (17), it follows

$$\infty > \int_{t_1}^{\infty} p_j(t) z(g_j(t)) dt$$

$$\geq \sum_{\nu=1}^{\infty} \int_{\alpha_{\nu}}^{\delta_{\nu}} p_j(s) z(g_j(s)) ds$$
$$> \frac{r}{2} \sum_{\nu=1}^{\infty} \int_{\alpha_{\nu}}^{\delta_{\nu}} p_j(s) ds = \infty,$$

due to condition (B) of this theorem. This contradiction shows that r=0 and the proof is complete.

EXAMPLE 1. Consider the equation

(32) 
$$y^{(IV)}(t) - e^{t/2 - \pi} y(t - \pi) = e^{-t/2} - e^{-t}, \quad t > \pi;$$

which has  $y = -e^{-t}$  as nonoscillatory negative solution that goes to zero as  $t \to \infty$ . Now from condition (A), we have

(33) 
$$\limsup_{t \to \infty} \frac{1}{6} \int_{g^*(t)}^t (g(t) - g(s))^3 p(s) ds$$
$$= \limsup_{t \to \infty} \frac{1}{6} \int_{t-\pi}^t (t-s)^3 e^{s/2-\pi} ds > 1.$$

From condition (B), it follows

(34) 
$$\liminf_{t\to\infty}\int_t^{t+k}e^{s/2-\pi}ds = 2e^{-\pi}\cdot\liminf_{t\to\infty}e^{t/2}(e^k-1) = \infty, \quad \text{since} \quad k>0.$$

Also

$$f(t) = e^{-t}(e^{t/2}-1) \ge 0$$
, which is integrable on  $(\pi, \infty)$ 

and

$$\int^{\infty} e^{-t} (e^{t/2} - 1) dt < \infty .$$

Thus all the conditions of Theorems 1 and 2 are satisfied.

**THEOREM 3.** Suppose condition (A) of Theorem 1 holds. In addition to this suppose

(D) 
$$\lim_{t \to \infty} \int_{0}^{t} p(s) ds = \infty$$

and

(E) 
$$\liminf_{t\to\infty}\frac{\int_{t}^{t}f(s)ds}{\int_{t}^{t}p(s)ds} \ge \beta > 0.$$

Then no nonoscillatory solution of equation

(35) 
$$y^{(2n)}(t) - p(t)y(g_1(t)) = f(t)$$

approaches zero.

**PROOF.** Let y(t) be a nonoscillatory solution of equation (6) which approaches zero. Then y(t) is bounded on  $[t_1, \infty)$ . By Theorem 1, y(t) is eventually negative. Without any loss we can assume that y(t) < 0 for  $t \ge t_1$ . From equation (6) we have

(36) 
$$y^{(2n-1)}(t) - y^{(2n-1)}(t_1) = \sum_{1}^{m} \int_{t_1}^{t} p_k(s) y_k(g(s)) ds + \int_{t_1}^{t} f(s) ds.$$

Since  $y(t) \rightarrow 0$  as  $t \rightarrow \infty$  and is negative, there exists  $t_2 > t_1$  such that

(37) 
$$y(g_k(t)) > -\beta/2 \quad \text{for} \quad t \ge t_2.$$

Replacing  $t_2$  for  $t_1$  in (37), we get

$$y^{(2n-1)}(t) - y^{(2n-1)}(t_2) \ge -\frac{\beta}{2} \int_{t_2}^t p(s) \, ds + \int_{t_2}^t f(s) \, ds \, ,$$

which yields

(38) 
$$\frac{y^{(2n-1)}(t)}{\int_{t_2}^t p(s)ds} - \frac{y^{(2n-1)}(t_2)}{\int_{t_2}^t p(s)ds} \ge -\frac{\beta}{2} + \frac{\int_{t_2}^t f(s)ds}{\int_{t_2}^t p(s)ds}$$

Now as  $t \to \infty$ , the right hand side of (38) is bounded away from zero due to condition (E). Since

$$\lim_{t\to\infty}\int_{t_2}^t p(s)ds = \infty,$$

it follows from (38) that  $y^{(2n-1)}(t) \rightarrow \infty$  which in turn forces y(t) to be positive, a contradiction since y(t) < 0 for  $t \ge t_2$ . This contradiction proves the theorem.

EXAMPLE 2. Consider the equation

(39) 
$$y^{(IV)}(t) - y(t-\pi) = r + 2\sin t, \quad r > 1.$$

The solution is  $y(t) = -r + 2\sin t$ , a negative nonoscillatory solution which does not approach zero as  $t \to \infty$ . From condition (E), we have

(40) 
$$\lim_{t \to \infty} \inf_{s \to \infty} \frac{\int_{t_1}^t f(s) ds}{\int_{t_1}^t p(s) ds} = \lim_{t \to \infty} \frac{r(t-t_1) + 2(\cos t_1 - \cos t)}{t - t_1} = r > 0$$

Similarly for condition (A), we have

(41) 
$$\limsup_{t \to \infty} \frac{1}{6} \int_{g^{*}(t)}^{t} (g(t) - g(s))^{3} p(s) ds$$
$$\geq \limsup_{t \to \infty} \frac{1}{6} \int_{t-\pi}^{t} (t-s)^{3} ds = \frac{\pi^{4}}{24} > 1$$

Thus all the conditions of this theorem are satisfied to justify the solution  $y(t) = -r + 2\sin t$  of equation (39).

#### References

- [1] R. Bellman and K. Cooke, 'Differential-Difference Equations', Academic Press, New York, 1963.
- [2] J. S. Bradley, Oscillation theorems for a second order delay equation, J. Differential Equations, 8 (1970), 397-403.
- [3] R. S. Dahiya and Bhagat Singh, On oscillatory behavior of even order delay equations, J. Math. Anal. Appl. 42 (1973), 183–190.
- [4] R. S. Dahiya, Oscillation generating delay terms in even order differential equations, J. Math. Anal. Appl. 49 (1975), 158–165.
- [5] H. E. Golwitzer, On non-linear oscillations for a second order delay equation, J. Math. Anal. Appl. 26 (1969), 385-389.
- [6] G. B. Gustafson, Bounded oscillation of linear and non-linear delay differential equations of even order, J. Math. Anal. Appl. 46 (1974), 175–189.
- [7] Michael E. Hammett, Nonoscillation properties of a non-linear differential equation, Proc. Amer. Math. Soc. 30 (1971), 92–96.
- [8] G. Ladas, Oscillation and asymptotic behavior of solutions of differential equations with retarded argument, J. Differential Equations 10 (1971), 281-290.
- [9] G. Ladas, G. Ladde and J. S. Papadakis, Oscillation of functional differential equations generated by delay, J. Differential equations, 12 (1972), 385-395.
- [10] G. Ladas and V. Lakshmikantham, Oscillation caused by retarded actions, Applicable Anal. 4 (1974), 9–15.
- [11] M. Minorsky, 'Nonlinear oscillations', Van Nostrand, New Jersey, 1962.
- [12] S. B. Norkin, 'Differential Equations of the Second Order with Retarded Arguments', American Mathematical Society, Rhode Island, 1972.
- [13] H. Onose, Oscillatory property of ordinary differential equations of arbitrary order, J. Differential Equations, 7 (1970), 454–458.
- [14] I. J. Schoenberg, The elementary cases of Landau's problem of inequalities between derivatives. MRC Technical Summary Report #1147, Feb (1972), Mathematics Research Center, The University of Wisconsin, Madison. (Reproduced in Amer. Math. Monthly, 80 (1973), 121-158.)
- [15] Bhagat Singh, Nonoscillations of forced fourth order retarded equations, SIAM J. Appl. Math. 28 (1975) 265-269.
- [16] Bhagat Singh, Oscillation and nonoscillation of even order nonlinear delay differential equations, Quart. Appl. Math. 31 (1973), 343-349.
- [17] Bhagat Singh, Nonoscillation theorems and asymptotic behavior of functional differential equations with time lag, communicated for publication.

#### R. S. DAHIYA

- [18] V. A. Staikos and A. G. Petsoulas, Some oscillation critera for second order nonlinear delay differential equations, J. Math. Anal. Appl. 30 (1970), 695-701.
- [19] V. A. Staikos, Oscillatory properties of certain delay differential equations, Bull. Soc. Math. Grèce 11 (1970), 1-5.
- [20] K. F. Teodorcik, 'Self Oscillatory System', 3rd Edition, Gostehizdat, Moscow, 1952. (Russian).
- [21] P. Waltman, A note on an oscillation criterion for an equation with functional argument, Canadian Math. Bull. 11 (1968), 593-595.

Department of Mathematics, Iowa State University, Ames, Iowa 50010